

The following documentation is an electronicallysubmitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at **wvOASIS.gov**. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at **WVPurchasing.gov** with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.

WOAS	SIS	Jump to: PRCUID 👌 Go	😥 Home 🄑 Personalize 🗿 Accessibility	🔽 App Help 🌾 About 🔯	
Welcome, Lu Anne Cottrill		Procurement Budgeting Ac	counts Receivable Accounts Payable		
Solicitation Response(SR) De	pt: 0608 ID: ESR0220180000003640 Ver.: 1	Function: New Phase: Final	Modified by batch , 02/21/2018		
Header 🛛 1				a 8	
				List View	
General Information Co	ontact Default Values Discount Document I	Information			
Procurement Folde	r: 421934	ş	SO Doc Code: CRFQ		
Procurement Type	e: Central Master Agreement		SO Dept: 0608		
Vendor II	D: 000000228214		SO Doc ID: COR1800000015		
Legal Name	e: ELITE K-9 INC	Pu	blished Date: 2/16/18		
Alias/DB/	A:		Close Date: 2/21/18		
Total Bio	d: \$51,018.08		Close Time: 13:30	~	
			Apply Default Values to Commodity Line	view Procurement Folder	



Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia Solicitation Response

Proc Folder : 421934 Solicitation Description : ADDENDUM 1 K-9 VEHICLE INSERTS Proc Type : Central Master Agreement					
Date issued	Solicitation Closes	Solicita	tion Response	Version	
	2018-02-21 13:30:00	SR	0608 ESR0220180000003640	1	

VENDOR					
00000228214					
ELITE K-9 INC					
Solicitation Nun	nber: CRFQ 0608	COR1800000015			
Total Bid :	51,018.08	Response Date:	2018-02-20	Response Time:	18:11:43

Comments: We have applied a 5% discount to our published price on the merchandise. Please keep in mind that if a 2 drawer vault is placed into the cargo area of the Ford Interceptor SUV, you will lose access to the spare tire. There is an optional vault (manufactured by American Aluminum) available to remedy this.

FOR INFORMATION CONTACT THE BUYER		
Crystal Rink		
(304) 558-2402 crystal.g.rink@wv.gov		
Signature on File	FEIN #	DATE
All offers subject to all terms and conditions contained in this	solicitation	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	E/Z Rider K9 Insert with Dividers or Equal	8.00000	EA	\$2,423.040000	\$19,384.32
Comm Code	Manufacturer	Specification		Model #	
10131605					
Extended Des	scription : E/Z Rider K9 Insert with Di	viders or Equal			

Comments: Unit Price includes freight

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	E/Z Rider K9 Insert 1/3 - 2/3 Prisoner/K9 or Equal	3.00000	EA	\$2,461.090000	\$7,383.27
Comm Code	Manufacturer	Specification		Model #	
10131605					
Extended Des	scription : E/Z Rider K9 Insert 1/3 -	2/3 Prisoner/K9 or	r Equal		

Comments: Unit Price includes freight

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	E/Z Vault 2 Drawer or Equal	11.00000	EA	\$2,204.590000	\$24,250.49
Comm Code	Manufacturer	Specification		Model #	
10131605					
Extended De	scription : E/Z Vault 2 Drawer or Equa	al			

Comments: Unit Price includes freight



Purchasing Divison 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia Request for Quotation 31 - Public Safety

	Proc Folder: 421934		
	Doc Description: ADDEI Proc Type: Central Maste	NDUM 1 K-9 VEHICLE INSERTS	
Date Issued	Solicitation Closes	Solicitation No	Version
2018-02-16	2018-02-21 13:30:00	CRFQ 0608 COR1800000015	2

BID RECEIVING LOCATION	The second second			
BID CLERK			1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	
DEPARTMENT OF ADMINISTRATION				
PURCHASING DIVISION				
2019 WASHINGTON ST E				
CHARLESTON	wv	25305		
US				

VENDOR		and the second
Vendor Name, Address and Telephone Number:	ELITE K9 INC 7660 OLD US HWY 45 BUAZ, KY 42027 (270) 554-5315	

Crystal Rink (304) 558-2402 crystal.g.rink@wv.gov		
Signature X Luke high	FEIN #	DATE 2/19/2018

FORM ID : WV-PRC-CRFQ-001

ADDITIONAL INFORMAITON:

THE STATE OF WEST VIRGINIA PURCHASING DIVISION FOR THE AGENCY, WEST VIRGINIA DIVISION OF CORRECTIONS, IS SOLICITING BIDS TO ESTABLISH AN OPEN-END CONTRACT FOR K-9 VEHICLE INSERTS PER THE ATTACHED DOCUMENTS.

INVOICE TO	SHIP TO
FISCAL DEPARTMENT	FISCAL DEPARTMENT
DIVISION OF CORRECTIONS - CENTRAL OFFICE	DIVISION OF CORRECTIONS - CENTRAL OFFICE
1409 GREENBRIER ST STE 300	STE 300
	1409 GREENBRIER ST
CHARLESTON WV25311	CHARLESTON WV 25311
US	US
Line Comm Ln Desc Qty	Unit Issue Unit Price Total Price
1 E/Z Rider K9 Insert with Dividers or 8.00000 Equal	EA 2423.04 19,384.32
Comm Code Manufacturer Spe	cification Model #
10131605 AMERICAN ALUMINUM CH	EUP TANKE, DUDGE TRUGE, FORD INTERCEPTOR SUN
Extended Description : E/Z Rider K9 Insert with Dividers or Equal	
INVOICE TO	SHIP TO
FISCAL DEPARTMENT	FISCAL DEPARTMENT
DIVISION OF CORRECTIONS - CENTRAL OFFICE 1409 GREENBRIER ST STE 300	DIVISION OF CORRECTIONS - CENTRAL OFFICE STE 300
	1409 GREENBRIER ST
CHARLESTON WV25311	CHARLESTON WV 25311
US	US
Line Comm Ln Desc Qty	Unit Issue Unit Price Total Price
2 E/Z Rider K9 Insert 1/3 - 2/3 3.00000 Prisoner/K9 or Equal	EA 2461.09 7,383.27
Comm Code Manufacturer Spe	cification Model #
10131605	AN TAKE, DORGE TRUCK, ERO THERCE PTOR SUV
AMERICAN ALUMINUM LA	BAY TAKE, DOOLE IRUCK, ECRIPTOR DUV
Extended Description : E/Z Rider K9 Insert 1/3 - 2/3 Prisoner/K9 or Equal	
INVOICE TO	SHIP TO
FISCAL DEPARTMENT	FISCAL DEPARTMENT
DIVISION OF CORRECTIONS - CENTRAL OFFICE 1409 GREENBRIER ST STE 300	DIVISION OF CORRECTIONS - CENTRAL OFFICE STE 300
	1409 GREENBRIER ST
CHARLESTON WV25311	CHARLESTON WV 25311
US	US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
3	E/Z Vault 2 Drawer or Equal	11.00000	EA	2204.59	24,250.49
Comm Code	Manufacturer	Specifica	tion	Model #	
10131605	AMERICAN ALUMIN	iom CHEV	TAHOE DUOC	FE TRACK, FORDI	IN FERCE OTRE SUV

E/Z Vault 2 Drawer or Equal

SCHEDULE	OF EVENTS		
Line	Event	Event Date	
1	QUESTION DEADLINE 10AM EST	2018-02-16	

-

Elite K-9, Inc. 7660 OLD US HWY 45 BOAZ, KY 42027-9613 (270) 554-5515 FEIN 83-0356648

Quotation # 155159A					Quotation Date 02/20/18			Page 1
FISCAL DEPARTME WV DIV OF CORREC 1409 GREENBRIER STE 300 CHARLESTON, WV	CTIONS - CENTI ST	RAL OFC			Ship	То		
Customer No. 108498	Sales I.D. /LP	Reference 18000000		Source /	QUO	Terms QUOTATION, EXP 03/23/18		
Ordered By Crystal Rink		Warehouse		Number 558-2402	Total Wt. 0.0 Lbs	Zone	Pkg 0	Ship Via F

NO RETURNS WILL BE ACCEPTED WITHOUT AN RA# 10% RESTOCKING FEE MAY BE CHARGED FOR UNWANTED MERCHANDISE RETURNED

Qty	B/O	Ship	Item #	Description	Un. Price	Ds	Amount
6			VAZF320	Ford Explorer 2011 to current 2011 to current	2081.09	-	12486.54
2			VAZDT	2017/2018 Interceptor SUV Dodge 4-Door Truck 04-Current with mat	2081.09		4162.18
2			VAZF325	2018 Dodge Ram 2500 Ford Explorer 2011 - Current, 1/3 - 2/3 K9 insert 2011 to current K9/Prisoner Transport	2461.09	-	4922.18
1			VAZDT2	2017/2018 Ford Interceptor SUV Dodge 4-Door Truck 2/3 - 1/3 insert 04-Current with mat 2018 Dodge Ram 2500	2461.09	-	2461.09
11			VAZ350	LED Dome Light	94.95	100	0.00
11			VAZ400X	Rubber Mat for EZ Rider K9 transport	109.95		0.00
11			VAZ401B	Black Powder Coating for E/Z Rider Inserts	200.00		0.00
8			VAZ500	E/Z Divider	341.95		2735.60
8			EZV2 TAHOE	E/Z Vault 2-drawer Tahoe 2017/2018 Ford Interceptor SUV	2204.59	-	17636.72
3			EZV2 TAHOE	E/Z Vault 2-drawer Tahoe 2018 Chevy Tahoe	2204.59	-	6613.77
				MERCHANDISE O	QUOTATION TO		51018.08 51018.08

YOU HAVE SAVED \$4453.90 ON THIS ORDER